
SPARE PARTS LIST
PAGE 1

MODEL NO. HR2510

ITEM PART NO. DESCRIPTION QTY NOTE
002 922341-3 Imbuszcsavar M6x25 922341-3   4
004 211441-7 Golyóscsapágy   1
005 322255-0 Görgo 6,5 HR2510*   2
006 252214-9 Anyacsavar M30,3-36 HR2510   1
007 315606-4 Hengeres ház  HR2510   1
008 213606-7 O-gyuru 48 213606-7   1
009 212455-9 Tugörgos csapágy 3516 212455-9   1
010 253802-5 Lapos Alátét 35 HR2210/2220/25   1
011 221333-2 Fogaskerék 33 HR2210/2220   1
012 322505-3 Dugókulcs HR2510   1
013 254231-5 Ék 4 (új) HR3520/2220/1800/5*   1
014 213308-5 O-gyuru 19 HR2510/HK1800   1
015 213308-5 O-gyuru 19 HR2510/HK1800   1
016 321685-2 Dugattyú HR2510/HK1800   1
018 922366-7 Imbuszcsavar M6x45 922367-5   4
019 256099-5 Csapszeg 6 256099-5   1
021 411662-3 Forgattyúház-fedél (kerek) HR2   1
022 213554-0 O-gyuru 44 213554-0   1
023 315146-2 Hajtórúd HK1800/HR2210/HR2220/   1
024 212025-4 Tugörgos csapágy 810 HK1800/HR   1
025 321615-3 Forgattyús tengely HR2510   1
026 216011-7 Acélgolyó 5,6 216011-7   2
027 231327-9 Nyomórugó 6 HR2510/HR1800   1
028 321618-7 Átkapcsoló Csapszeg 8 HR2510   1
029 159504-0 #Forgattyúház HR2510   1
030 211204-1 Golyóscsapágy 6002 211204-1   1
031 221719-0 Fogaskerék 36 HR2510*   1
032 253147-1 U-alakú lapos alátét 15 5014B/   1
033 211221-1 Golyóscsapágy 6902 211221-1   1
034 213806-9 O-gyuru 90 HR2510/HM1202C   1
035 213011-8 O-gyuru 7 213011-8*   1
036 321614-5 Átkapcsoló kar HR2510   1
037 231328-7 Nyomórugó 2 HR2510   1
038 216008-6 Acélgolyó 4 216008-6   1
039 612798-3 Forgórész 220V HR2510   1 220V
040 254031-3 Ék 3 254031-3   1
041 528722-5 FIELD ASS'Y 220V   1 220V
042 265347-1 Állórész rögzito  hatlapú csav   2
043 213157-0 Olajtömítés 13 HR1800/HR3510/H   1
044 211069-1 Golyóscsapágy 6200 (HR3520)   1
045 157166-8 Csapágyház a hajtómuháznál HR2   1
046 253314-8 Alátét 15 253314-8   1
047 211034-0 Golyóscsapágy 608*   1
048 151162-8 Csúszótengelykapcsoló (nyomaté   1
049 923456-9 Négylapú fejescsavar M8x35 HR1   1
050 273496-0 GRIP 32   1
051 315145-4 Fogantyú-befogó HR2000/HR2510   1
052 342633-8 Fogantyútartó kengyel HR2000/H   1
053 331407-2 Hengerhüvely 24 HR2510   1
054 216007-8 Acélgolyó 6,4 6710DW/6905B/H   3
055 213377-6 Olajtömítés 21 HR2510   1
056 443061-1 Filc gyuru 20 HR2510   1
057 213554-0 O-gyuru 44 213554-0   1
058 322096-4 Olajtömítés-foglalat (új) HR25   1
059 216007-8 Acélgolyó 6,4 6710DW/6905B/H   3
060 321616-1 Ütoszeg HR2510   1
061 213058-2 O-gyuru 10 HR2510   1
062 213058-2 O-gyuru 10 HR2510   1



SPARE PARTS LIST
PAGE 2

MODEL NO. HR2510

ITEM PART NO. DESCRIPTION QTY NOTE
063 322254-2 Fúrótokmány (új) HR2510   1
064 213064-7 O-gyuru 10 HR2000, HR2510 (új)   1
067 414425-6 Átkapcsoló gyuru (új) HR2510   1
073 157525-6 MOTOR HOUSING   1
074 953106-2 Csapszegecs 0-5 953106-2   4
075 854940-2 NAME PLATE  HR2510   1
077 181038-5 Szénkefe, CB-105, önkioldó*   1
078 643600-9 Szénkefetartó-sapka 6-10 64360   2
079 241819-0 Ventilátorkerék 65 HR2210/20,   1
080 210001-2 BALL BEARING 608LB   1
081 152229-5 Csapágyház, komplett HR2220/HR   1
082 911241-2 Trapézfeju csavar M5x25 911241   3
083 181562-8 Kapcsolóház-garnitúra (jobbos   1

INC. 95
084 911243-8 Trapézfeju csavar M5x25 911243   3
085 911343-4 Pan Head Screw   2
086 665883-1 POWER SUPPLY CORD  1.0-2-5.0   1
087 682540-6 Kábelvédo 9,3-90 682540-6*   1
088 687031-2 Kábel-feszültségmentesíto   1
089 911133-5 Trapézfeju csavar M4x18 911133   2
090 645253-0 Zajszuro kondenzátor 645253-0*   1
092 685700-9 Szivacsgumi lemez 6855700-9   1
093 651258-0 Kapcsoló SGE106CV-1A HK1810/JR   1 220/240V
094 421145-5 Gumi porvédo sapka kapcsolóhoz   1
095 181562-8 Kapcsolóház-garnitúra (jobbos   1

INC. 83
096 911328-0 PAN HEAD SCREW M6X18   2
097 924216-2 Szárnyas csavar M5x15 924216-2   1
098 261042-1 Gumi Alátét 4,5 HR200/HR2510   1
099 231946-1 Kúpos nyomórugó 21-25 HR2510   1
100 286220-2 Sapka 34 HR2000, HR2510 (új)   1
400 321144-6 Mélységméro vezetosín HR18/200   1
404 153614-5 PLASTIC CARRYING CASE COMPLETE   1
407 122376-6 Dust Collector Ass'y   1
408 835263-7 INNER CASE   1
900 646325-4 Fojtótekercs   1



SERVICE DRAWING
PAGE 1

MODEL NO. HR2510


